Homework is due on the day listed.  Be sure to always show your work.            Name ____________________________
Due Tuesday, December 8
	What is the value of the expression
                    4 x (4 – 2) + 6?



















	Lannie ordered 12 copies of the same book for 
His book club members.  The books cost $19 
each, and the order has a $15 shipping charge.
What is the total cost of Lannies’s order?
	 
_____Yes, I understand these 
problems.

_____I DO NOT understand 
these problems because



Due Wednesday
	Estimate
 625 ÷ 25 = 



















	A factory makes 1,560 pies per hour.  The pies
are packaged 24 to a case.  About how many 
cases of pies does the factory make per hour?
	
_____Yes, I understand these 
problems.

_____I DO NOT understand 
these problems because


Due Thursday
	
 5,256 ÷ 52 = 

















	One box holds 12 candy canes.  A case of candy 
canes has 2,760 candy canes.  How many boxes
of candy canes are in the case?
	 

_____Yes, I understand these 
problems.

_____I DO NOT understand 
these problems because



[bookmark: _GoBack]Due Friday
	Estimate

        10 - 3 = 



















	During his first vet visit, Sandy’s puppy weighed
6 pounds.  On his second visit, he weighed
9 pounds.  About how much weight did the
puppy gain between visits?
	 

_____Yes, I understand these 
problems.

_____I DO NOT understand 
these problems because



